
1241

 1242
 1244

 1245
·  1246

 1247
·  1251

·  1252
 1253

 1254

ROTARY STAGE
RWT SERIES

CAD

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM

30RoHS

58

RWT
INDEX

1241



1242

c

c

ARWT 10-45-L 80,000

ARWT 10-60-L 80,000

ARWT 10-90-L-SW2 96,000

1244

 ·  ·  ·  ·  ·  · 
1.0N·m 0.5MPa

1010

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM

1242

RWT

c

c

c



1243

Creceed

ARWT10-45-R
8

ARWT10-60-R
6

ARWT10-90-R
4

45°  60°  90°45°, 60°, 90°3

2

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM

1243

ARWT10-45-L
8

ARWT10-60-L
6

ARWT10-90-L
4

45° 60° 90°

45° 60° 90°



1244

q

A

A

B A

A

w

e

r

t

C

RWT q w e r t 1

1 RWT q
2 RWT e
3 RWT

(PA)(PB)

C

A B

C

ARWT10-90-R -L
C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM

A



1245

1. 

2. 

3. PB

1 ISO 
VG32

PB
1244

1. 

2. 

40 m

M5×0.8

      N· cm

157

1. 

2. 

3. 

4. 

5. 

6. RWT

L

mm N·m

ARWT10 M4×0.7 5 1.50

N·m

ARWT10 M5×0.8 3.0

PBPA

L

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1246

·

 V

ARWT10-45

9.6

ARWT10-60

10.6

ARWT10-90

12.8

Q1 R/min ANR
Q2 R/min ANR
V 1  cm3

 t 1  s
n 1  cycle/min
p  MPa

1

1244

RWT
200cm3 /min ANR

1

F.R.L.

cm3

Q2   V × n × P 0.1013 200 × 10-3
0.1013

0.2

0.4

0.25

0.5

0.3

0.6

0.35

0.7

0.4

0.8

0.45

0.9

0.5

1.0

0.55

1.1

0.6

1.2ARWT10

ARWT10

50

0

1.5

WS N 1

WR N 2

M N·m

MPa

N·m

0
0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

0.1 0.2 0.3 0.4 0.5 0.6 0.7

MPa

N.m

WS

WRWR

M

PBPA

PBPA

PBPA

0.2sec

1

2

Q1   6.4 × 60 × P 0.1013 200 × 10-3
0.1013t

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1247

1.
q r

q 45 60 90
w s
e MPa
r

t

2.
1 w

3.
TA

80%

1246 1 e

TA

4.

1

45°

60°

90°

s

0.1 0.5

0.13 0.67

0.2 1.0

ARWT10

J

0.050

1. Ea

ARWT10

WS MAX N

50

M MAX N·m
1.5

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM

 TA : N·m
 I  : kg·m2

1249 1250
 : rad/s2

 K : 5
 : rad

 45° 0.79rad
 60° 1.05rad
 90° 1.57rad

 t  : s

TA  I K

 2
t2

·

·

·

 E  : J
 I  : kg·m2

1249 1250
 : rad/s
 : rad

 45° 0.79rad
 60° 1.05rad
 90° 1.57rad

 t  : s
Ea : 1

E 1 × I × 2

2
t

2

E  Ea

2.

5.
1

2 1246

WS  M  1
WS MAX M MAX

6.
4. 5.

E  Ea
 1



1248

mm

80

30

10

20

30

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM

1.

q 90
w 0.5 s
e 0.5 MPa
r

A5056 2.64×103 kg/m3

A5056 2.64×103 kg/m3

t

2.

0.5s/90 0.2 1.0s/90

3.

m1 ×0.082×0.01×2.64×103 0.133 kg

I1 0.133×0.082

1.06×10 4 kg·m2 q

m2 ×0.032×0.02×2.64×103 0.037 kg

I2
0.037×0.032

0.037×0.032

0.37×10 4 kg·m2 w

q w I
I I1 I2

1.06×10 4 0.37×10 4

1.43×10 4 kg·m2 e

90 t 0.5 s

2×1.57 12.56 rad/s2 r

e r TA

TA 1.43×10 4×12.56×5
0.009 N·m t

0.5MPa 1.0 N·m

8

4

0.52
·

·

4

8

4.

90 t 0.5 s

2×1.57 6.28 rad/s q

q E

E 1 ×1.43×10 4×6.282 0.003 J w

0.050 J

5.

0.133 0.037 0.170 kg

WS 0.170×9.8 1.666 N q

M1

M1 0.133×9.8×0 0 N·m w

M2

M2 0.037×9.8×0.03 0.011 N·m e

w e

M 0 0.011 0.011 N·m r

q r

   WS    M 1.666  0.011 0.04 1.0

1.0

6.

0.5

2

WS MAX M MAX 50 1.5



1249

a1
b

a2

a
b

d

d1

d2

R

R

R1

R2

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM

 a1 m
 a2 m

 b m
 m1 kg

 m2 kg

 I kg·m2

 I kg·m2

 I kg·m2

 I kg·m2

 I kg·m2

 I kg·m2

 I kg·m2

12 12
I m1 4a12 b2 m2 4a22 b2

12
4a12 b2 4a22 b2

 a m
 b m

 m kg 12
I m a2 b2

12
a2 b2

 d m
 m kg

8
I md2

8
d2

 d1 m
 d2 m

 d1  m1 kg
 d2  m2 kg

d1 d2

8
I 1 m1d12 m2d22

8
d12 d22

R m
 m kg

3
I mR2

3

R m
 m kg

12
I  mR2

12
R2

R1 m
R2 m

 m1 kg
 m2 kg

3 3
I  m1·R1

2  m2·R2
2

3
R1

2 R2
2

R2



1250

m2 m1 m2 0

m1

m2

R1

R2

L

h

JL

Ib

a

b

      Ia

L

h2
h2

h1h1

L

d

L

d2

d1

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM

 I kg·m2

 I kg·m2

 I kg·m2

 I kg·m2

 I kg·m2

R1 m
R2 m

 m1 kg
 m2 kg k2

3
I m1k2 m1R12 m2R2

2

 h m
 L m

 m kg 12
I mh2

mL2

       a
       b
 N·m

b
Ia a    Ib

 h1 m
 h2 m

 L m
 m kg

12
I m h22 h12 mL2

 d m
 L m

 m kg 16
I md2

mL2

 d1 m
 d2 m

 L m
 m kg

16
I m d22 d12 mL2

2

 I kg·m2



1251

RWT

1

2

ARWT10-45-R ARWT10-45-L ARWT10-60-R ARWT10-60-L ARWT10-90-R ARWT10-90-L

N·m

MPa

MPa

C

J

N

N·m

1 0.5MPa
2

·
1.0

0.2 0.6

0.9

0~60

60 0.2

0.2 1.0

0.050

50

1.5

1 ISO VG32)

M5×0.8

45 0.2 90 0.2

Assy

ARWT10-45-R ARWT10-45-L ARWT10-60-R ARWT10-60-L ARWT10-90-R ARWT10-90-L

g

Assy 1 3m

472

30

473 470

- -ARWT

RWT

R
L

Assy
Assy

 SW1 1
 SW2 2

1255

45 45° 8
60 60° 6
90 90° 4

10 1.0N·m 0.5MPa

-10

1242

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM

s/90



1252

A

D

B

C

H

E

F

A H B C D

F

G

G

E

F FE E

A

B

A

A

B

C

No

K

K

K

K

K

K

K

K

K

K

K

K

K

K

K

K

K

K

No

q

w

e

r

t

y

u

i

o

!0

!1

!2

!3

!4

!5

!6

!7

!8

 A

 B

D

E

C

O

NBR

NBR

No

K

K

K

K

K

K

K

K

K

K

K

K

K

K

K

K

K

No

!9

@0

@1

@2

@3

@4

@5

@6

@7

@8

@9

#0

#1

#2

#3

#4

#5

-R -L

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1253

mm

20

98
2

4
0.

01
2

0
4

4 5.5
34

13

5.3

24.7

5.5

M5 0.8

M5 0.8

7778

2

15
15

45
45

147

67
.5

( 4.8)

(S2)

3.8

2- Assy
2.6 3m

5

17

13.9
6

P
.C

.D
.

35

20

2

4
0.

01
2

0
4

4 5.5

4H7( 0.012
0 ) 4

34

13

5.3

24.7

5.5

M5 0.8

M5 0.8

7778

2

0
4

0.
01

2
4

4
0.

01
2

4

15
15

45
45

147

67.5

( 4.8)

3.8

2- Assy
2.6 3m

(S1)

(S2)

5

17

13.9
6

P
.C

.D
.

35

4-M4 0.7 5

4H7( ) 40.012
0

4H7( 0.012
0 ) 1.5

45
0.2

(A
RW

T1
0-4

5-R
)

60
0.

2
(A

RW
T10

-60-R
)

90
0.

2 (A
RWT10-90-R)

(S1)

45
0.2

(ARWT10-45-L)

60
0.2

(ARW
T10-60-L)

90

0.2

(ARWT10-90-L)

4-M4 0.7 5

98

1

40H7(       )
0.0250

62

78

62

78

1
40H7(       )0.025

0

4H7( ) 40.012
0

4H7( ) 40.012
0

4H7( 0.012
0 ) 1.5

0

PB
PA

S1

PB
PA

S1

ARWT10- -R- Assy C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM

ARWT10- -L- Assy



1254

SW-ARWT

0.8mm 15%

0 0.6mm

5×5×t1mm

15%

20 m

12 24V DC 10% P-P10%

15mA

NPN · 50mA 30V DC 0.4V 50mA

ON

1kHz

LED ON

IP67 IEC JIS 3

25 70 C 25 80 C

35 95%RH 35 95%RH

AC500V 1 ·

DC250V 5M ·
10 55Hz 1.5mm XYZ 2

200m/s2 20G XYZ 10

25 70 C 20 C 20%

10% 2%

SUS304 TPX

0.08mm2 3 · · 3m

30g

1

2

1
2
3

SW - ARWT

ARWT RWT

RWT
SW-ARWT RWT

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1255

 M3 0.5 8

mm

V

Tr

D

ZD

50mA MAX.

0V

DC12 24V
10%

R39
R45 3.

8

(
4.

8)

22
5

10

11

10.1 0.05

(SUNX GX-3S C)
2.6 3M1

0.63N·m

D
  ZD

  Tr NPN

S1
S2

1
2 0.29N·m 10%
3 1 M3×0.5 8

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM




